Dalkeith High School - Level 4 - HOMEWORK 18

1. Copy each of the following and simplify (where possible) :-

@ 5+3 ® J+7 () 2-2 @ £-2

© 53 ® 5% @ 3+3 () £+%
2.  Copy each and simplify -

(@ 42+2; ® ef+1; (0 42+23 (@ 5Z+2

(@ 22 -2L (f) 72-432 @ 10Z-5% () 28_18

3. Jerry mixed 2% kg's of currants and 1-} kg's of raisins into a bowl.

What is the total weight of currants and raisins ?

Bill jogged 5% km of an eight kilometre run.
How far has Bill still to jog ?

1,1 2 ,1 3_5 B
(@) 2" 8 ©) 0 ©) 4 12 @ 16 4
Ly B 2= 9 4,3 & S
(e) 10 % 5 (f) 6 12 @) 16 * 4 () 51 17

i) 2+1,.1 ) 2 +1_1 1L ik 4

(i) 3+2+4 ) 12-»4 5 (k) 2+3+4+5

6.  Copy and simplify :-

1 1 1 1 14,12 1 .12
(a) 3»2 + 13 (b) 13 +34 (c) 42+15 (d) 42 15
L .43 3w L 2 .33 3 3
() 68 44 (f) 15 15 @) 410 34 ) 410 +34
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